MATH 2312 Algebra Review Part 1

Factoring and square root

a* —b?>=(a—b)(a+b)
a? + 2ab + b? = (a + b)?
a? — 2ab + b? = (a — b)?
=%  a®+b3=(a+b)(a®—ab+b?
a3 — b3 = (a — b)(a® + ab + b?)
i fr—b a2 mah & b2)

Va2 = a|

(e hal=a

Example: Simplify the following expression:

o ronfarr _ (x+2) (= Bx+D|x-1|
(x2—=3x+9) sz'_ bx‘\.qs

= (x5 |x-1|

Functions and Domain

A function f is a rule that assigns to each element x in a set A exactly one element f(x) in a set
B

The set A is called the domain and is the set of all valid inputs for the function.

To determine the domain, start with all real numbers and then eliminate anything that results in
zero denominator or even roots of negative numbers.

Example: Find the domain for each of the following functions.

a. f(x)=3x*—-5x+2 Po‘a

(—oo‘OO> or X A B
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b fO) =VI=x \-%x=0

c. () =25+ A e o ?roue"\

2 x*eh =0
X —Q %0
*
s S
x 2% >
D: (-Mu"?bu ("5\35()(3.6@}
5- ecaa(@X =0
d. f(x) = V5 =cosx S > con 2
TN CINIFR A\wods
©: Peue
-3 2 (D) <A
e f(x)=x2ﬁ28
;(h = &X-&
(x-A)(x-1)
w-2>0 AND  x-AxD x-1+0
X3 X %4 X1
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-2
£ f(x) ~ siflx 1

sinx-4A =0 E}

s = A

+ 5 12V Y \La‘m'\egex-

R-{Z +2me, v- in-lswl
’i)z)\)(z) 2_)\)(5'2 ’ag}u-..
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Difference Quotient

Definition: Let f(x) be a function. The differen: tient is the expression
fle+h) - f(x)
h

Example: Find the difference quotient for f(x) = x2 —3x + 1

Step 1: Evaluate f(x + h)

£ (x-\-\\\ = (x-k-\\ 32-—- 5?"""\\\ ~ A
= )g?'-\-?_x\'\ *"\‘L- 3\("5‘\ +4A

Step 2: Evaluate f(x + h) — f(x)

Loy -L(x) = m

xz-\- Zxk -'4\2 -dx - b»\ A+ - (xz- 3>x-¥-&)

Ea oo k- AR A oA BX X
=2xl'\+ h 5\\

Step 3: Divide f(x + h) — f(x) by h

’2_x\r\4 \'\2- 3>\'\
I\

= 2% +h-3>
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Example: Find the difference quotient for f(x) = ﬁ

Step 1: Evaluate f(x + h)

A
< (’(*“\3 = xan-

> Step 2: Evaluate ]%{ (x)
'd )‘\\’
% = _ x_s_:x-\-i—Q

wth-= %= (xth-2)(x->)

x—%—x—\'\*b . \\

= (x+ -2 (=) (x-ﬂ\-@ (“jaQ

\
Stepszw_e,f(uh)—f(x)byril (M\A\"\V\F\A \DAT\‘E

_ Kk N
LX'\' k“ 55(\(-58 »\ - (K*\\ Zb PageSof9>




Composition of Functions L

Definition: The composition of functions f and g is defined as (f o g)(x) = f(g(x)).

The domain of f o g is the set of all x such that x is in the domain of g(x) and g(x) is in the
domain of f(x).

Note:

e (fg)(x) and f(g(x)) have different meaning!!! Be careful about the notation.
e Ingeneral, (f ° g)(x) # (g ° f) ().

Example: Let f(x) nd g(x) = x* + 2. Find

a foo® = L (3@5}
N e

=2 x*+ A
) = NOT the
b. (g0 () 3(£(A> 0) e
= (2x-2) 42
= AF—\2%x+Q +2 = Ax: \2x +\

-2

Example: Let f(x) = 5x2 — 1 and g(x) = 3 cosx — 1. Evaluate (f o g)(0)
(—Qo@(& =L (3(0\3 TNSIDE - O0UT
\,S(o\ = 3@ -A = 3(OD-AL =2
2. £(D=5(D-L = 20-\ =19

eNORA
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Inverse Functions b R

A function is one-to-one (1-1) if no two elements in the domain have the same image. Ifa
function is 1-1 then it has an inverse.
1

The inverse of a function f is denoted by f~1 . Note that f~1(x) # o

Given the graph of a function, we can determine if that function has an inverse function by
applying the Horizontal Line Test.

The Horizontal Line Test
A function f has an inverse function, f ~1, if there is no horizontal line that intersects the graph
in more than one point.

Example: Which of the following are one-to-one functions?

a.

NO

A o 24

XES

b. {(-1,4),(1,0),(2,7)}

A >, O
e ™

2 N |

c. f(x)=x?

| wal SCO=V MO
x=-L -Q-(“\\“
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Domain and Range

The inverse function reverses whatever the first function did; therefore, the domain of f is the
range of f~! and the range of f is the domain of f 2.

Example: Suppose that f and g are 1-1 functions and that f(3) = 7, f(7) = 2, g(7) = 4, and
g(3) = 0. Find f (g~ 1(4)).

3 . 1 L 'é_"\ {-\CS\MB}
1/’?\-&—'2 5/3%.0 =S§-\(7> =3

(N &_J‘

5 :
Property of Inverse Functions 3

Let f'and g be two functions such that (f o g)(x) = x for every x in the domain of g and
(g o f)(x) = x for every x in the domain of f then f and g are inverses of each other.

Finding the inverse of a one-to-one function:

Replace f(x) by y.
Exchange x and y.
Solve for y. e
Replace y by f~1.
Verify (i.e. check (f o f71)(x) = x AND (f 1o f)(x) = x)

A

Example: Let f(x) = 2x3 4+ 3x + 5. Evaluate f ~*(5) and f~*(10).
S (Deq D=5 |o=b
£(a)=5 S (=0] (=40
=)
qu-\-,sthaS 2b +5\;-\-S=A_O
=T Guess: . b=A
20+ 20 =0 2(\)'5+_=>(b* 85=10 v/
Qa <2.a1.\. b} = O _Q(Q=LD Page 8 of 9
a=0 20"*&710 |_Q-‘(\o’§- A |




Example: Let f(x) = 2x3 + 12 and g(x) = 4sin (% x). Evaluate (g o f~1)(10).

£'(10) = a

£Cad =10 = Awn (e
20 +12=(0 = — 4 ¥n (5)
2a” =-2. = -A4. ('\Z‘3=-l

S (10) =1
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